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BERAREK SH6FEETHEEER(EMN B/ ARIEERHGIR)
% h I - kT By = i & 28 HW =
EER 11, 490, 133
B HE 3 11, 490, 133
EhEas 11, 490, 133
EhEa 11,082, 620
REtEE 121, 800
1 BEtstE .00 121, 800 121, 800
Fy
BIM/CINE FJLIERK 145, 400
2 BIM/CINEMEEEE .00 145, 400 145, 400
Fy
Ehdas 3, 674, 000
3 MEEREE D& 5T X 00 1,268, 600 1,268, 600
=
4 [REEEYMDOEE EEMSEA - BHEBRERRITSE 00 1,403, 300 1,403, 300
=
5 MEITEENES .00 1,002, 100 1,002, 100
Fy
EIEE 3,198, 500
6 BIEHDRE .00 862, 100 862, 100
Fy
7 It E DR BIRT v IR-IREERSD 00 2,336, 400 2,336, 400
Fy
ERER 3,375, 720
8 HEHE 5T, REEEY 00 772, 480 772, 480
E
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% i1 i 2 BfL £ B i il i)

9 HmEER 5T, {RERIEEY 1.00 2,025, 840 2,025, 840
=

10 BAREEREERER 1.00 577, 400 577, 400
=

i - |E 227,100

11 153 - 8|E EHIT, PR &K1 3.00 75,700 227,100
]

BE 104, 200

12 B&E 1.00 104, 200 104, 200
=

R 235,900

13 S|EBMER 1.00 235,900 235, 900
=

E#EEE 407,513

EHARE 107,513

14 £BAME 1.00 107,513 107,513
®

(D2 300, 000

15 EBHER 1.00 300, 000 300, 000




WiER SHOEETHEEEEM B/ HthRISERHGIX)

% g B - K& B % = ] ® B W =
ERRA 11,082,620 + 407,513 11,490, 133
EEAGE 11,082, 620
BE#RE 407,513
T DR fi 11,082,620 x 53.85% ( 35% + (1 — 35%) ) 5,967, 990
BRI 11,490,133 + 5,967, 990 17,458,123
—REREE 17,458,123 x 53.85% ( 35% + (1 — 35%) ) — 9,322 9,391,877
KBS 17,458,123 + 9,391,877 26, 850, 000
HBEREALE 26,850,000 x 10.00% 2,685, 000
EBERN 26, 850,000 + 2, 685, 000 29, 535, 000
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=1
B EREHETE 14y
£ 7 R - KT B = BO(f | # B &
F1EBER GEED
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
& it 1YEZHEH - 1.00K 121, 800. 00 121, 800
&S :2
&% . BIN/CINE R EE 14y
£ 7 R - BAK~TiE B = BOf | # B &
F1EBER GEED
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57,000. 00 57,000
A (B)
A 0.50 47, 200. 00 23, 600
& it 1YEZHEH - 1.00K 145, 400. 00 145, 400
&S :3
%ﬁ‘ . ﬁﬁ%’iﬁﬂﬁ@*ﬁ?ﬂ‘ SIIZ 1:T'-t% U
£ 7 R - KT B = BO(f | # B &
F1EBER GEED
A 5.25 64, 800. 00 340, 200
AR (A)
A 6.00 57,000. 00 342,000
AR (B)
A 5.00 47, 200. 00 236, 000
HAf (C)
A 6. 50 38, 400. 00 249, 600
Bt &
A 3.00 33, 600. 00 100, 800
& B 1YE%HEH - 1.00K 1, 268, 600. 00 1, 268, 600
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EE .4
£ (REREEYORET EEMSHEA - BRHBERRAE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 4.00 64, 800. 00 259, 200
A (A)
A 6.50 57, 000. 00 370, 500
A (B)
A 8.00 47, 200. 00 377, 600
HEm (C)
A 5.50 38, 400. 00 211, 200
Hftt &
A 5.50 33, 600. 00 184, 800
& i YEZREN - 1.00K 1, 403, 300. 00 1, 403, 300
EE =)
&% IEIEEDOHE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 3.00 64, 800. 00 194, 400
A (A)
A 4.50 57, 000. 00 256, 500
A (B)
A 4.00 47, 200. 00 188, 800
HEm (C)
A 5.50 38, 400. 00 211, 200
Hftt &
A 4.50 33, 600. 00 151, 200
& i YEZRED - 1.00 1,002, 100. 00 1,002, 100
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15y ()

% 7 R - AR R B3 H 2 B & # & B &
EX: T TC D)
A 2.50 64, 800. 00 162, 000
A (A)
A 4.50 57, 000. 00 256, 500
A (B)
A 3.50 47, 200. 00 165, 200
HEm (C)
A 5.50 38, 400. 00 211, 200
Hftt &
A 2.00 33, 600. 00 67, 200
& i YEZREN - 1.00K 862, 100. 00 862, 100
E&S:7
2%  BIFEO®RS BIXTyTH IRBXRERST 1RHY
% 7 R - AR R B3 H 2 B & # & B &
EX: T TC D)
A 10. 50 64, 800. 00 680, 400
A (A)
A 12.00 57, 000. 00 684, 000
A (B)
A 9.00 47, 200. 00 424, 800
HEm (C)
A 9.00 38, 400. 00 345, 600
Hftt &
A 6.00 33, 600. 00 201, 600
& i YEZRED - 1.00 2, 336, 400. 00 2, 336, 400
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S :8
L% MEHE S(IR. RHFEEY 1RHY
% 7 R - AR R B3 = B £ & B &
A (B)
A 3.40 47, 200. 00 160, 480
HEm (C)
A 8.50 38, 400. 00 326, 400
Hftt &
A 8.50 33, 600. 00 285, 600
& i YEZREN - 1.00K 772, 480. 00 772, 480
=)
2% REfER SIR. REEEYD 1RHY
%4 7 R - AR R B3 = B £ # B &
A (B)
A 5.10 47, 200. 00 240, 720
HEm (C)
A 17.00 38, 400. 00 652, 800
Hftt &
A 33.70 33, 600. 00 1,132,320
& i YEZREN - 1.00 2,025, 840. 00 2,025, 840
H5:10
2 BRI R E HER 1RHY
% 7 R - AR R B3 = B £ & B &
EX: T TC D)
A 2.00 64, 800. 00 129, 600
A (A)
A 3.00 57, 000. 00 171, 000
A (B)
A 2.00 47, 200. 00 94, 400
HEm (C)
A 3.00 38, 400. 00 115, 200
Hftt &
A 2.00 33, 600. 00 67, 200
& i YEZREN - 1.00K 577, 400. 00 577, 400
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=T
2% - %E - |E FEI, P ¥ HEED
% 7 R - BIRTiE BARL = B £ # B &
A (A)
A 0.50 57, 000. 00 28, 500
A (B)
A 1.00 47, 200. 00 47, 200
& E%8eH - 1.00E 75, 700. 00 75, 700
212
%4 7 R - BIRTiE BARL = B £ # B &
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 1.00 47, 200. 00 47, 200
& EZREN - 1.00 104, 200. 00 104, 200
H5:13
B MESER 1RHY
% 7 R - BIRTiE BARL = B £ # B &
EX: T TC D)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 1.00 47, 200. 00 47, 200
HEm (C)
A 1.00 38, 400. 00 38, 400
& &t YEZRED - 1.00 235, 900. 00 235, 900
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H5: 14
2% EHARE 14y
2 Lo R - KT B = BO(f | # B &
EHARE
= 1.00 107,513.00 107,513
& it 1YEZHEH - 1.00K 107, 513. 00 107,513
H5: 15
2 EBHRSR 14y
2 Lo R - BAK~TiE B = BOf | # B &
(BRRRE
= 1.00 300, 000. 00 300, 000
& it 1YEZHEH - 1.00K 300, 000. 00 300, 000




